
These below are the step to replicate the bug. The witer I used is OpenOfiice 4.1.1 

Step 1: Write a text in a single line. 

 

 

Step 2: Apply numbering on the text which you entered as shown in the figure. To apply numbering click 

on numbering function as shown by the red arrow. 

 



Step 3: Press Enter and write a new line of text. 

 

 

Step 4: Place your cursor in the start of the second line as shown in the below screenshot.  

 

 



 

Step 5: Now press the backspace key and you see that the number is deleted but the position of the line 

2 will be still. 

 

Step 6: Now hold the indent and drag it from point 1 to point 2. Points are just for reference. You just 

have to change the position of the ruler to your right side.

 



Step 7: After applying step 6, your text will look something like this. Now if press the “Tab Key” the 

second line should get indented but it will not. 

 

 

Step 8: Now if you press the backspace key and try to press the “Tab Key”, even then the line will not be 

intended. 

 


